Halbschriftliche Multiplikation

Ubungen
Berechne:
689+ 3= 444 - 5=
692+ 8= 217+ b=
624 9= 826 7=
146 - 9= 541 4=
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Halbschriftliche Multiplikation

Losungen

Berechne:

689 3= 2067
600 - = 1800
80- 3= 240
9. 3= 27
692 8= bBbH36
600- 8= 4800
90- 8= 720
2+ 8= 16
624 9= 5616
600 - = 5400
20 - = 180
4. = 36
146 - 9= 1314
100 - = 900
40 - = 360
6 - = 54

444 - 5= 2220
400 - = 2000
40 - = 200
4- = 20
217- 5= 1085
200- 5= 1000
10- 5= 50
7- 5= 35
826 - = 5782
800- 7= 5600
20 - = 140
6 7= 42
541 4= 2164
500 - = 2000
40- 4= 160
1- 4= 4
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